
 

SINCEWE CANNOTTAKESQUAREROOT OF NEGATIVE NUMBERS WEMUSTHAVE

3 4 20 x2 43

SINCE WE CANNADIVIDE BY O WEMUSTHAVE

x X to XK 1 O X O AND X 1

PUTTING ALLOF THESE CONDITIONS TOGETHER WE HAVE

80 I

1 43 O u 0 1 011,0

a fight Fli Vt I VIP 211 VI

b glfix g x 2x I KIT

SLOPE M Ya Y
K X

3 1 2
4 1 1 44 1

USING Point SLOPE Formula y y MIX X WITH Ix y 1 2
AND M 1 GIVES

y 2 x I on y x I



0 2 4 2 4 x 2

µ

Y INT SET X O SOLVE Fay

y 20 4 1 4 3

a white log 4 W Then 16 4

Since 16 VI 4 WeHave W

b Ln x i Ln x I In x it Ink I

In I 1 1 x 1

x
e
l I

e

x l tx x tex I x l É I

x I e

I I e t



a Plz Cat Pls Cas 6000 lil

P5 6,000 Plo Ca 48,000 12

P101 48,000

6,000
as 8 a

I
DIVIDE 12 BY 11 Gq's 48,000

Now P5 C 8 15 6,000 8C 6,000

C
b
800 750

i Plt 750 815 750.8

b see Plt 750.8 5 750,000 solve for t

8 15 1,000 3 I In 8 Ln 1.000

t 5411,000 Days
In18

2

O

ONE
No TEH th



x ita I I can a
t

am
O

K n'ti i i

b plugin x 1 I

4 1 I

a fliz f17
12 7

VIET fat
12 7

2 3
12 z Y

b f 7 In fix f17
y y

167 3

x 7 In VIT 3
167 3

II 16 x 9

HIII's1 71167 3 7 x ITE 3
M

If rift
l l 1

VII I

f x fly fath fix him 2Ixthl sixth 12 2 5 1
h h

h o
Xt 4th 2h t Sh E SX him Klux 2h 5Lim

h K

1 o 4 5



a f is increasing When f is POSITIVE

f s DEMASING When fi y

Ash to O
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